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· Please check that this question paper contains 04 printed pages.

· Code number given on the right 'hand side of the question paper should be written on the

title page of the answer-book by the candidate.

· Please check that this question paper contains 30 questions.

· Please write down the serial number of the question before attempting it.
Time allowed: 3 hours





      Maximum Marks: 80

General Instructions:

1. 
All questions are compulsory.

2. 
The question paper consist of 30 questions divided into three sections A, B, C and D. Section A comprises of 10 questions of one mark each, section B comprises of 5 questions of two marks each , section C comprises of 10 questions of three marks each and section D comprises of 5 questions of six marks each.

3. 
All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the question.

4. 
There is no overall choice. However, internal choice has been provided in 1 question of two marks each, 3 questions of three marks each and 2 questions of six marks each. You have to attempt only one of the alternatives in all such questions.

5.
Use of calculators is not permitted. You may ask for mathematical tables, if required.

SECTION – A

1.
Find the HCF of 108, 200 using fundamental theorem of Arithmetic.

2.
Find the sum and product of zeroes of 
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3.
Check whether the following system of equations is consistent or not: 
[image: image2.wmf]1

2(x3)y0,xy30.

2

-+=+-=


4.
Find the discriminant of 
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5.
Find the 12th term of:   
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6.
Express 
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 in terms of trigonometric ratios of angle between 
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7.
The length of a tangent from a point A at distance 5 cm from centre of the circle is 4 cm. Find the radius of circle.

8.
Find the circumference of a sector of angle 60( of a circle with radius 10 cm.

9.
1000 tickets of lottery were sold and there are 5 prizes on these tickets. If Anshul has purchased a ticket, what is the probability of winning a prize?
10.
ABC and FDE are two equilateral triangles such that D is the midpoint of BC. Find the ratios of the areas of triangles ABC and FDE.
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SECTION – B

11.
Solve by cross-multiplication method: 
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12.
Apply division algorithm to find the quotient and remainder obtained on dividing p(x) by g(x) where 
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OR

Find the zeroes of 
[image: image10.wmf]2

3xx4

--

 and verify the relationship between zeroes and coefficients.

13.
Evaluate: 
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14.
If A and B are (4  ,  3) and (8  ,  5) respectively. Find the coordinates of P such that 
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15.
The incircle of a triangle ABC touches the sides AB, BC and CA at the points P, Q, R respectively. Show that: 
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SECTION – C

16.
Solve  
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, by completing the squares when


i) x is a rational number
ii) x is a real number.

OR

The sum of n terms of an A.P. is 
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 Find its 20th term.

17.
Prove  that the square of any positive integer is of the form 
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 for some integer q.
18.
Prove that: 
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19.
Prove that the points (3  ,  0) , (4  ,  5) , (
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1)  taken in order, form a rhombus. Also find its area.

20.
Construct a triangle similar to a given triangle ABC such that each of its sides is 
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th of  the corresponding sides of 
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. It is given that AB = 3 cm, BC = 4 cm and  CA = 5 cm.

OR

Draw a circle of radius 2.5 cm. Draw a pair of tangents to this circle which are inclined to each other at 60(.
21.
Show graphically that the system of equations 
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 has infinitely many solutions.

22.
Find the coordinates of the point of trisection of the line segment joining (4  ,  
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23.
A piggy bank contains hundred 50 paise coins, fifty Re. 1 coins, twenty Rs. 2 coins and ten Rs. 5 coins. If it is equally likely that one of the coins will fall out when the bank is turned upside down, what is the probability that the coin 

i) will be a fifty paise coin?


ii) will not be a fifty paise coin?

24.
In the adjoining figure, ABC is a right triangle with (ABC = 90(, BD ( AC,          DM ( BC and DN ( AB. Prove that:


i) 
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ii) 
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OR

“If a line is drawn parallel to one side of a triangle intersecting the other two sides, then it divides the two sides in the same ratio”, prove it.

25.
Find the area of shaded region in the given figure, where ABCD is a square of side   10 cm and semicircles are drawn with each side of the square as diameter.
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SECTION – D

26.
The angle of elevation of a cloud from a point h metres above a lake is ( and the angle of depression of its reflection in the lake is (. Prove that the distance of cloud from the point of observation is 
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27.
State and prove the converse of the following theorem:


“In a right angled triangle, the square of hypotenuse is equal to the sum of squares of the other two sides.”

28.
Sum of the areas of two squares is 
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 If the difference of their perimeters is    24 m, find the sides of the two squares.

OR

A takes 10 days less than the time taken by B to finish a piece of work. If both A and B together can finish the work in 12 days, find the time taken by B to finish the work alone.
29.
A solid consisting of a right circular cone of height 120 cm and radius 60 cm standing on a hemisphere of radius 60 cm is placed upright in a right circular cylinder full of water such that it touches the bottom. Find the volume of water left in the cylinder, if the radius of the cylinder is 60 cm and its height is 180 cm.

30.
If median of the following distribution is 28.5, find x and y.
	Class interval
	Frequency

	0 – 10
	5

	10 – 20
	x

	20 – 30
	20

	30 – 40
	15

	40 – 50
	y

	50 – 60
	5

	Total
	60


OR

The following table shows the ages of the patients admitted in a hospital during a year. Find the mode and mean of data given below:

	Age (in years)

(more than or equal to)
	Number of patients

	5
	80

	15
	74

	25
	63

	35
	42

	45
	19

	55
	5
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